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)
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4. a=+V3+1 b=v3-1
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¢
b

E)—4




S

VE3)? = (2P + VIO =

A) 8

B)12

6. 4[24

A)[-2,8]

B)(1,4)

C) 2 D)— 2

By —12

B =(1.§] = ARB=7

0O)[—2,1) D)(1.4)

E) [4. 8]

2018 cUYOS

1= vo)A+ V) + 2)(1 +22) + 15 = 0 .
=37 in alacagy degerler garpim kagtr?

I (L R+ VA + )1 +4) + 15 = 0

- I ?'n:{l b
then what is the multiplication of mﬂt‘:ﬁ g

A) 0 B) 2 C) 4 m-7 Be4

_(e—2)z+4
= 2: 18

8. [ sabit forksiyonu ve f(z)

(a—2)z+4
27+ 8

If [ is a constant function and f(x) = thenﬁ?’_

13

.




9. f(z)=2" isc

Slx+3) tin f(x) cinsinden degeri nedir?

¥ [(x)=2

, find definition of f(x + 3) as a function of [(z).

A) 3f(z) BYBf(»x) O 4Af(x) D)6f(x) E) f(x)+3

y=f{x)

10. JO)+ () — F4(2)

FH0) F1(=2)

v

C)— 1 D) 1 E) 2

A

—

2018 COYOS

| bW .
1. 1* =2 =50 =10 denkleminin kékleri
" 'r "r. i
Ty Ve Ty iSe — 4 =2 =%
I I

Let &, and 72 betherootsof > —x — 5=10,

solve S + i =7
Jioa J:1
| 1 | 0 11
A) === B e e 0 — By =&
/ 3 } 9 5 5 5
12 2z-1)(z—-2)+2-=z)(z+3)=0
denkleminin ¢dziimn kiitnesi nedir?
Find the solution set of
2z—-1)(z—2)+ 2—ax)(z+3)=0
A){2} B) {2,4} O{4} Do E)R



14.

63 s
1+I—4
B) 4 a7

D) 1

g =1
E)—4
= qg=
== a =7
Ey —2

2018 cOYOS

18, Plz-2)=z*+ox—4
polinomunun bir garpan

r+ 3isc a ="

-

If x+3 isamultipier Plz—2) =m’:&-:l;;%i;.

a=1
iy
A-3 B3 c) 0 D) 2 E)—1
4
T
16. 2sinr — 3cosx =0 T (uﬂ‘“{_ﬁ"’




17.
sin 3zt
o
| 19
L4442 448

4) 1

A) 0
: B) —3
=1
0
D)
|
By

=[=




2. 134 In8a=1n2h— 3In?
!
olduguna gore i agagidakilerden hangisidir?

)

HfIn3+In3a=In20—-3In2, find —=7
a

A) 2 B) 16 C) 32 D) 36 E) 72

22

In3 = x ve In5 = y ise loge, 125 ifadesinin

x ve y tiiriinden degeri agagidakilerden hangisidir?

If n3 = x and lub = y, expresslogg, 125 in terms at

T andy ?
A) ﬂ B) 12y ©) &= D) Ty E) 4 —
‘i:r Hy . e dy

/ \ 2018 cOYOS

23. f(x) = logy(5—1)+logy(7—3)
fonksiyomunmn en genig tannn kiimesi

agagidakilerden hangisidir?

Find the largest domain of
f(z) = logy(5— ) +logs(z—3)

A) (3. 00) B) (—o0, 5] €)(3.5)
D) [3,5) E) (3,5]
24. (@5 ) bir geowetrik dizi,
lg'== -5, ar = 40 == €11 =17
Let (a,, ) be a geometric sequence.
If a4=3, a;=40 = ai; =?
A) 80 B) 160 C) 320 D) 640 E) 1280
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- 27. 1 40 R
25.  $,= Y an=n"+4n+ 1 olduguna ghre a5 =7 " Sn\uaoR2n )
jeaey
. ™ ) _. 5 2
fef ' — Ein.n =n*+4n+1 ,find as=! 0 B) 4 0 8 1
A)5 B) 13 C) 22 D) 33 E) 46
aél, 3
, R
- r-r:.‘ﬁ‘m‘:li
: ey (-.] +.;‘;—_ij_d )
| : . 111 | -3 G — *
26.  Gim (z2elt 2 4+ e + 2| sin '.JTI) = 238. p—0F 0F
r—1 1}
A =5 BB O D3 ) B |
A) 0 B)1 C) 2 D)3 E) 4 LR
p— o 'i i s
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31 flz)=e*n3z =  [f1(0)=¢

2 (¢3I+u—4
lim

T ) limitinin bir gergel degeri varsa
m —

T—2

a sayis1 asafgdakilerden hangisi olmahdir? A 4 B) 6 ) 12 D) — 9 E)—5

If hm( 3I2+ﬂ;4) has a real solution, find a = 7
r—l Is —

A)D B) 2 01 D) 8 E) 10

(LR B (L ighgdt -]

.l_-'
-

30. ] T—2 32, flr) =23 L ox? _br+4 fonksi
f(x) = T —— —n FiT) - 4 onksiyonu

x =1 apsish noktada yerel maksimoma,

fonksiyonu B de siirekli olduguna spre m 2 = —1 apsish noktada doniim noktasina sahipse
asagdakilerden hangisi olamaz? a+b="? 5
- X —2 ! 3 e
¥ f(z) = P — Mtz 10 is continuous on R, If f(z)=x"+ax® —bx+4 has alocal minimumon = =1
and a turning pointon r = —1 a+b=7
which of the followings can not be .
Al B 12 © 9 D6 E) 3

A) —1 B) 0 01 D) 2 E) 3
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33. y=[(z) egrismim A(1. 2) noklasindaki (egetinin efini 4

>y <

| flz) — - o 36.
olduguua gore g(z) = > fonksiyonu icin g'(1) degeri

asagidakilerden hangisidir? y=x'- 2
If the slope of tangent line of y = f(x) on A(l.2)equal to 4, -
what is the value of ¢'(l) for gl(r) = @ ?
. | y=-'7‘?-'
A) O B) 1 C)2 D) —2 By — |

sckilde taral alam veren integral agagidakilerden hangisidir?

Which of the following integrals calcuiates the area of the
shaded region?

34. f(z) = sinz — z fonksiyonunun [, 37| arahgmdaki V2
A) [ (227 —2)dx
V2

en biiyiik degeri kactir? ~

What is the maximum value of f(x) = sinx — x onthe

interval [, 3|7 "
B) [ (2—27%)dr
o | —/2
Ay —m B}—I ) 0 D}% E) m 5
1
Q) [(2-2%)dz
—1

1
D) [(2—22%)de

V2
35. _F(;;;j_ = f taﬂi‘tﬂ)dt = F( .!;i) =5 0

A éﬁ B) A ; ;

EJ _1 -j&u = et -
- -. - -
=




39.  [2m5 2016
2017 2018|

B N-3  B-2 00
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41.
|AC| = |D‘C—1 1s€
X="7

B c if |AC|=|DC|, A)2¥Z BW2Z 23 D)V3  E)V6
find x=7?

A)10 B)20 C)30 D)40 E) 50

44, _
ABCD diktirtgen
Iggﬂ: ; 5~ |AD|=10 |AE|=24 |[EC|=12
= isc |FB|=7
X="7 : ’

If ABCD is a rectangle, |AD|=10 |JAE|=24 and |[EC|=72,

find |FB|=?
Az Byl S04 D)8 BN

A)8 BY6 €5 D4 E)2

12



45. D 2
2|AE| = 3|EC| ve
e A(ABCD)=50 isc
A(DEC) =7
A B

If 2JAE|=3|EC| and A(ABCD)=50, find A(DEC) =7

A)5 B)I5 C)25 D)20 E) 10

46. D C
ABCD dik vamuk
g % |ADJ= 8, |BC|= 10 ise
b <\ A(ABCD)=?
A B

If ABCD is a righ trapezoid, |AD|=8 and |BC|=10,
find A(ABCD)=?

A) 80 B) 100 C) 104 D) 112 E) 160

13
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O ¢emberin merkezi,

T dogrunun gembere

teget oldufu nokta ise

oL=7

O is the centre of the circle and TPB is tangent to it at T,

find (Cl=7

A) 60° B) 30° C) 40° D)50° E) 20°

i - AB| cap ise

tarah alan = 7

If |AB| is the diameter, find the area of shaded region.

A) 3T B)4T C) 5T D)6 E) T
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Ya s
49. a,b reel sayilan icin
c axb=3a+2b

iglemleri tammlamyor.

»X

A B nl. ve 52, sorulan buna gire t'IT‘b’HIlIﬂ}'HIII.
For a,b real numbers, axb = 3a+2b
ABCD karedir. A noktasimn apsisi 4 1s¢ A(ABCD)=7 operations are defined.

Solve the questions 51 and 52 according to these.

If ABCD is a square and the axis of point A is 4,
A(ABCD)=7?

Y 51.  3a(2%5)=?
A)8 B)16 C)32 D)144 E) 64

A)3 B)6 C)12 D)18 E) 24

50.
Sekildeki ktipun
bir kenari 2cm ise,
|AL|= ?
52. (aa2)x15=6 = a=7?
A' A)-16 B)-8 OO0 D)8 E) 16

If the side length of the cube Is 2 cm, |AL|=7

AY2¥2Z' B)3 CON2 D)V3 E)4

14
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53. Asajndaki gekillerden hangisinde tarah alan

digerleninden farkhdir? 355. YyMxRU=?

Which of the shaded region is different from others?
A) IRK B) YMT C) TRI

D) EiK E) IME

2
56. 31 '13 A
2
2 3

Soru isaretli daire hangi sekilde olmalidir?

Which of the following circle should replace “7" 7

TURKIYEM =38165472

verilivor
>k, ve 55. sorular buna gire cevaplayinie,
A) /|
TURKIYEM =38165472
is given. Solve the questions 54. and 55. according to 3
this.
. TYKR+YMIT =7 3
B) 5
_ 1
A) EERY B) RYMI C) TRKY
D) RUMY E) MEIR
. 1
C) 2
3

32
1
3
E
2
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57. aB
g olduguna gire A+B-C= ?
CAB
AB
# x [ ,find A+B-C=?
CAB
AN Bl @2 D)3 _E)4

123....91011.....313233

'den 33 ¢ kadar olan dogal savilar sekildek: gibi vazilarak
n- basamakh bir savi elde ediliyor.

58. 59. ve 60. sorularn buna gire cevaplayiniz,

To obtain an n-digit number, natural numbers between

1 and 33 are written as

123....91011.....313233

Solve the questions 58. 59. and 60. acoording to this.

58. n kacur?
Find n=7

A)33 B)42 ()48 D)57 E) 66

A

16

2018 CcUYOS

§9. Sayimn soldan 27. basamafinda hangi rakam

bulunur?

What is the 27" digit of the number.

A) | E) 0

60. Saymin sagdan 26. basamaginda hangi rakam bulunur?

What is the 26" digit from the right hand side of the

number.

AJO B)1 ©2 D3 E4
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. | AA
A A A A
A A A A

Yukandaki terazilerin g de dengede olduguna gisre Yukandaki terazilerin digi de dengede olduguna gisre
HIL. terazide soru isareti agagmdakilerden hangisi I terazide soru igarcti asagdakilerden hangisi
olabilir? olabh?
All three scales above are in balance. Accordingly, which All three scales above are in balance. Accordingly, which
of the following does the question mark (7) in third scale of the following does the question mark (?) in third scale
stand for? stand for?

A = B) * C)mm D)%+ E)mmm A ke Bl)em C(C)ee D)xx E)eee®

17
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63. 246 167 325 459 578
Yukaridaki sayilar kendi i¢lerinde biv kurala gire ABCCOEFGGHITJKLMNOPRSSTUUVYZ

olugturulmuglardie. 7 yerine ayagidakilerden hangisi 4 4 4 4

selmelidir? D=AG, P=LU, A=AA, 2=7Z,..

Yukanda bir harften egit uzakhkta harfler kullamlarak
olugturulan bir kodlama verilmigtic. Bu kodlama bir harfin

246 167 325 459 578

umber abo j ' ' . : : : :
e A rabove are assigned to a specific rule. Which of the yerine birden fazla yazim gelebilmektedir. Bu kodlama

followings should replace “?7" ? yardim ile kelimeler tiretiliyor ﬂrne;’iin;

Ad VB2 O3 D)4 Bs S=PT , I= , V=TZ . A=AA

secilirge

SIVAS = PTIJTZAAMY

kodlamas elde edilebihr

63, ve 66. sorulan yukarndaki bilgiye gore cevaplayimz.

A coding which is genarated by using the letters at the same
distance from a letter is given above. In this coding, more than
one writing may be used for one letter. With the help of this
coding, words are generaied such as,
if
S=PT , i=lJ , V=TZ . A=AA and S=MY
the coding

| SIVAS = PTIJTZAAMY

may be obtained

64.
2 3 6 18 108 X Solve the questions 65 and 66 according to these.

Yukarndaki sayr dizisinde x asamdakilerden hangisidir?

Which one of the followings is the “x" in the number sequence.

65. Yukanda verilen kodlama yardimyla CUYOS
A) 118 B) 1008 C) 1080 D) 1944 E) 1954

kelimesimin kodlamas: agagidakilerden hangisi olabilir?

With the help of the coding given above, which of the
followings might be the coding for "CUYOS" ?

A} BCUVVZNROT B)ADTYVZMSHU C) BCTYUZOPRS

D)BGUVVZMSPT E)ADSZVZNPNV

18
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66. JLAAPTIOGK kodlamasiile verilen kelime 68. x#=28# iue x kag farkh deger alabilir?

asamdakilerden hangisidir? i xi=284#  how many different values can x have?

Which of the following is the word for the coding

JLAAPTIOGK? E)6

A) 2 B) 3 C)4 D)5

A) PASLI B) KASLI () PATL

D) KAPLI E) KATLI

n bir puziLif lam sayi olsun.n# ile n ye kadar olan tiim asal

sayilarn carpumim lammlayahm,

Ornefin;
5#=2.3.5=30
10#=2.3.5.7=210

din:

Let n be a positive integer. Let us define the multiply of the 69. X2 -11 olduguna gire x asagidakilerden hangisi olabilir?

prime numbers between 1 and n with n# such as
9#=2.3.5=30 H
10#=2.3.5.7=210 If E =11, which of the followings can be “x" ?

Solve the questions 67. 68. and 69. according to this rule.
A¥12 - BY13 - wC) 144 v D)5 s B E6

67. 16# kactr?
Find 168 =7

A)2310 B)2730 C)210 D)30030 E) 30300

19



bigiminde tammlamyor,

the rule is defined as in the
figure

70. ve 71. sorulari buna gore cevaplayiniz.

Solve the questions 70. and 71. according to this
rule.

70.
Z
2
? 29 =7
12
A) 1 B2 &3 D)4 E)D
71.

# a+b+c+d="7?

A)13 B)14 C)15 D)i6 E)17

20
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72 X 3 b
a| ©b+4
b 28-a

Yukaridaki carpma tablosunda a ve D harfleri pozitif birer
sayinin yerine kullamlnistin. Buna gore a kagtir?

In the multiplication table above, a and b are used

instead of positive numbers. According to this,
finda= 7

A)3 B4 ©5 D6 E)7



73,

ORNEK
EXAMPLE

74.

A)48 B) S0 C) 52 D)54 E)S6

A
T

NLN

x 7

A)36 B)37 ©)38 D)39 E)40

A

21
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75. Asamdaki sekillerden hangisi farkhdir?

A)

B)

C)

D)

Which of the following shape is different?




76. KADI ) 1953
SARI | 6348
SILA }2379 } =>SARI =7
YARE | 7369
DAYl ) 1349
A)1953 B) 6348 C) 2379 D) 7369 E) 1349
. ANy | 6515
O [ % 2158
©@ OANAQO | 5242
0 /NO 2315
=[1O0A©® T3¢ =7

A)251634 B)254631 C)253614 D)241635 E)341625

22

78.
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6
1135614 >
2

I. seklinde verilen karton katlanarak II. sekildeki
zar elde ediliyor. Zar abldiginda

1 WA

:_;_u:klim]{: ise alt ve iist }?‘ii:i:-:_-.}'lurd{:ki rakamlamnn

toplam kactir?

By the folding cardboard given in 1., the dice on 11. is obtained

1 14

If the dice is landed as in the figure after rolling, what is the sum
of the numbers on the top and the bottom surfaces?

A5 Bie 7 D8 E)9
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79. : i ; : 80.
2 3 3 5 1 4 4 2
64 81 32 7
4 B 2 3

Soru isareti yerine asajdakilerden hangisi gelmelidir?

Soru igareti yerine agafidakilerden hangisi gelmelidir?

Which of the followings should replace “?” s Which of the followings should replace “?” ?

A)3 B)4 C©5 D6 E)7 Ayl BY6 €10 D)11 E)36

23
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